C-Arm and Docking Device Assembly
Invacare Lynx and Panther Series Scooters

I

J

\ L
N/

__________ O
N 1
Lift strap
VN reference only.
o N
~ AN
S S
™~ \\<»"’ N N
S N ~)
Tl \\
SN AN
" < \\\\ \\\\ \\ P |
Gy SN
. AT ( ;
Bl b
- N
— ~ et
. N Sl 4
N G e N \\J
\\\\ \\\\ \\ \
\\\ \\\ \\ /%\
N N — N
N~ L F 4 5)
N\ i
N/
C-Arm Assembly k
7N
e {8 p—————————
| Seat post
ly. T
} reference only. - fv @PE’/A
| Clamp bracket
} reference only.
N
‘ /\/(\\\
N
‘ [@ \%
K
\\\Q\H 4\\ j‘ o \><%\\ N
N> N - “
| NQOTE: Key stock edge on /\L\ ‘\\ V<7
‘ clamp bracket fits under (\|J ) \/\: T
| weld nut. ’ 7
| Docking Device
U U S Y

N
\\ Ve . S
{‘M
C -Arm assembled
reference only.



C-Arm and Docking Device Assembly

Invacare Lynx and Panther Series Scooters

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 D AP072798-NLA | NLA - C-Arm Assembly 1 1
2 AP100708-NLA | NLA - Pin, Roll (3/16 x 1-1/2") 1 2
3 AP100562-NLA | NLA - Locknut (3/8-16) 1 1
4 AP101395-NLA | NLA - Screw, Socket Set (1/4-20 x 1/4") 1 2
5 APQ072461-NLA | NLA - Bracket, Lift 1 1
6 AP100561-NLA | NLA - Screw, Hex Head (3/8-16 x 1-3/4") 1 1
7 AP072797-NLA | NLA - C-Arm - Scooter 1 1
8 C AP072795-NLA | NLA - Docking Device Assembly 1 1
9 AP100626-NLA | NLA - Locknut (1/4-20") 1 2
10 AP072793-NLA | NLA - Clamp, Bracket 1 1
11 AP100902-NLA | NLA - Screw, Hex Head (1/4-20 x 1-1/4") 1 1
12 AP072794-NLA | NLA - Lift Arm - Scooters 1 1
13 AP101836-NLA | NLA - Screw, Socket Head (M10 x 1.25 x 20mm) 1 1
14 AP101839-NLA | NLA - Screw, Socket Head (1/4-20 x 1-7/8") 1 1
15 B APQO72799-NLA | NLA - Kit, C-Arm+ Docking Device Assembly 1 1
A |APOM-MV3650- | NLA - Instruction Sheet, C-Arm+ Docking Device 1 1
NLA
NOTE: - Not Shown.

o0 >

- Includes items 1, 8 and Instruction Sheet.

- Includes items 9-14.
- Includes items 2-7.




